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The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in

their own words as far as practicable.
Answer question number 1 and 2.

1. Answer any seven questions: 2xT7=14
Q- (I ASTB Ao T e 2

a)  Which function in Excel tells how many

numeric entries are there in a range?

GCEHER (Fi TG a9 @ 93 e
Foafe] WUF G TR0 ?

b) How do you calculate row sum?

G376 AN A row-93 ANl e @i w42

c)  Write the uses of Sort feature.

A6 RebicE IRl @74 |
[Turn Over]

d)

g)

h)
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Which function in Excel checks whether a
condition is true or not?

GEFER (@ TG @I *S A70F Al ga ok
FACS ARG (I ?

What is the intersection of a column and a row

on a worksheet called?

G35 STFANG 7 (column) €I AETF (row)
(2 1 e 2

What type of chart is useful for comparing

values over categories?

fen el T N Goml S &= (i
HHE BIb SR 2

Which feature of MS Excel is used to quickly
complete an A.P. series of data?

GEHEE @ QAP @3 @6 (AP) Prive-
@3 G5! 1 G w© 7 TACT TIAO T ?
What type of chart is useful for showing trends

or changes over time?

TR AL @l A ARSI (I &l i
HAE IO FITF 2

Mention any two statistical functions

commonly available in Excel spreadsheet.

GFE CRTHEG TR Toierg uio Sorifohowe
IgHe S 9 |
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j)  Distinguish between Pie chart and Bar chart

with the help of suitable drawing.

ToHYE SFEH AR 2113 5i6 @3 A% Biv-az &

A1 4|
Mr. Bajaj receives a salary of Rs.50,000/- per month.
He spends his income on (1) food items (2) clothing
(3) education of children (4) loan repayment and
(5) other purposes. In January, 2020 he spent
Rs.16,000/-, 3,000/-, 5,000/-, 9,600/- and 7,500/-
on the above five items respectively. In February,
expenditure on thse items were Rs.17,500/- 2,250/
-, 5,000/-, 9,400/- and 8,200/- respectively. On the
other hand, in the month of March he spent
Rs.14,900/-, 3,100/-, 5,000/-, 9,000/- and 7,000/-
on the above items respectively.
On the basis of the given information, create a Table
showing budget of Mr. Bajaj for three months
(January to March) in your answer book, as if itis a
spreadsheet, and perform the operations as per
instructions given below. [Only write the steps
involved in performing the operations. No

calculation is required.]

2 qreer ef o™t 50,000/~ Bl (@9 21 | &fs S
ol OlF =M% (1) AW @15 (&= & (2) (oA Afmen
(3) TRt ACTHE (4) Qe AR G3R (5) S Fie
P FCE | R0%0 AER GRRIEIce fo Sowae ol
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SBGEE 8K I 16,000/-, 3,000/-, 5,000/-,
9,600/- €<% 7,500/- Bl U7 FA0A | (FFAIRCS 3
wiRENefes I3 Feas IS 17,500/- 2,250/-,
5,000/-, 9,400/- €32 8,200/- Gl | Sy, WG WA
Toile Sizaeflce o adi@E® 14,900/, 3,100/-,
5,000/-, 9,000/- @3% 7,000/- BRI 53 FCACR |

2w wr2iF fefers W2 Aeire fod e (SR (A
%) AETHH @3 Table (SFIF T€A910q CRITHGT o
(I (o 7 93 A e W=IIKet] ST I =]
T | [N P =AM Gy ARG AT e
(T2 | (P18 STl 2Re (12 |

a)  While preparing the Table enter the months in
three columns and insert expenditure items
row wise. Complete the table by putting the

expenditure amounts in appropriate cells.

Table Tod! S 7 AT foai T (#74
3R S DRGNS A Al row SERIT #7121
A Aol IR @I e GRA s
4|

b) Write the heading "Item-wise total
expenditure" in the next column. Write the

steps involved to derive total expenditure on

482/Eco. [4]



d)
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each item during the period from January to
March, 2020. Write the cell addresses of the
cells where item-wise total expenditures will

appear.

TSl I "Items-wise total expenditure"
RTINS G121 | 2020 AT SEIST (IGE W6 217
FRIPIC 2 SRR (6 % Hef@a ooy wfiee
ARCFAGTT (512 | @ e PT0eT SR -Tefed @b
A AR IR (T address @feT #74|

Write the steps involved to derive monthly
total expenditure. Insert the heading "Monthly
total expenditure" in the appropriate cell. What
shortcut can be used to determine total
expenditure?

PR i a5 [FeiE e Faca o Ameweiafe
(#14 | ©2)& 9 "Monthly total expenditure"
RIS (374 | GG A o991 (eg (i *5Fi6
AT TR T @S AN 2

Insert "Monthly income" in the cell just below
the cell names "Monthly total expenditure" and
enter the monthly income figures in

appropriate cells.

"Monthly total expenditure" S5 ST 05 THH
93 "Monthly income" RN (#14 @38 So&
rRfrrs e SRR AR @9
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How can you derive monthly savings from the
given dataset? (Write the steps). Write
"Monthly saving" in appropriate cell and write
the cell addresses (instead of savings amount)

against each month's savings.

247G (U5 (15 (ATF PO “ToRs Aeed”” (e Fa3
O meEISlE (612 | ©oYE (T "Monthly
saving" (#14 3% &\ TR LR AR SRR
@11 address @& @4

By which function of Excell will you

determine maximum and minimum

expenditures? Write the steps clearly.
6+4+6+2+4+4=26

QTIER (I T @ AE I 9R 7N 3
fdfiRe a0 2 smewAeler siweE @2



